] 3.6 Python FEFFAUHS
from scipy.optimize import minimize
import numpy as np

from matplotlib import pyplot as plt

fig = plt. figure() # & SCFTHI —4EAAFRHE
ax3 = plt. axes(projection="3d")

# o€ =4
x1 = np. arange(-5, 5, 0.5)
x2 = np. arange (-5, 5, 0.5)

X, Y = np.meshgrid(xl, x2)
7= X-2) %2+ (Y - 1) % 2

# 1EK

ax3.plot surface(X, Y, Z, cmap= rainbow’)

ax3. contour (X, Y, Z, zdim="z’, offset=—2, cmap= rainbow’ ) # ZE=ZK, Ei%H offset,
N7 /IME

plt. show()

def fun(args):
a, b = args
v = lambda x: (x[0] — a) %k 2 + (x[1] — b) **x 2

return v

if name == " main ”:
B OESCHEE
args = (2, 1) # a,b
# WEYIRAENE
x0 = np. asarray ((0.5, 0.5))
res = minimize (fun(args), x0, method=" SLSQP’)
print (res. fun)
print (res. success)

print (res. x)



